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The Significance of Dietary Antioxidants and the Problems
on these Evaluation Methods

Yutaka WAKO

Abstract

Cellular biomolecules damage caused by reactive oxygen species (ROS) has been suggested
as an important factor in aging as well as in a number of age-related degenerative diseases,
including cancer, heart disease, and arthritis. Therefore, antioxidant supplementation and
dietary factors that reduce the impact of ROS attack are likely to protect against such diseases.
But the findings of antioxidant activity obtained i vifro do not always correspond to the
observations in vivo from intervention trials. Accordingly it is essential to establish that these
dietary factors being evaluated really do decrease oxidative damage iz vivo. Several biomar-
kers, such as 8-hydroxydeoxyguanosin, can be used in these intervention trials to study if dietary
factors has any efficiency for antioxidative protection in vivo and the optimal intake of those

dietary factors.
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